

COMMUTATIVITY OF ASSOCIATIVE RINGS WITH $(X, Y^2) - (Y^2, X)$, $YX^2Y=XY^2X$

B. SRIDEVI*

Asst. Professor in Mathematics,
 Ravindra College of Engineering for Women, Kurnool, India.

(Received On: 02-12-15; Revised & Accepted On: 22-04-16)

ABSTRACT

In this paper we have mainly focused on some theorems related to commutativity of associative and non associative rings. We prove that if R is an associative ring with unity satisfying $(x, y^2) - (y^2, x)$. $\forall x, y \in R, n \geq 2$ and $xy^3=y^2xy$ $\forall x, y \in R, n \geq 2$. Then R is commutative ring and also I have mainly obtained two principles for a non associative ring to be a commutative ring.

Key words: Ring with unity, Associative ring, Non-associative ring.

INTRODUCTION

The object of this note to investigate the commutativity of the associative and non associative rings satisfying condition ‘.’ Such that $y(yx) = y(xy) \forall x, y \in R$ and $(yx)x = (xy)x \forall x, y \in R$,

PRELIMINARIES

Definition:

- (i) A non empty set R together with two binary operations $+$ and \cdot is said to be a ring (Associative ring) if $(R, +)$ is an abelian group and (R, \cdot) is a semi group satisfying distributive laws.
- (ii) In a ring R if there exists an element ‘1’ in R such that $a \cdot 1 = 1 \cdot a = a$ for all $a \in R$ then R is said to be a ring with unity.

Theorem 1: R is an Associative Ring with unity 1 then R is Commutative such that $(x, y^2) - (y^2, x)$ belongs to $z(R)$.

Proof: Given that $xy^2 = y^2x$

Replacing y by $y+1$,

$$x(y+1)^2 = (y+1)^2x \in Z(R)$$

$$x(y^2+2y+1) = (y^2+2y+1)x \in Z(R)$$

$$xy^2+2xy+x = y^2x+2yx+x \in Z(R)$$

$$2xy = 2yx \forall x, y, \in Z(R)$$

$$yx = xy \forall x, y, \in R$$

Hence R is Commutative ring.

Theorem 2: Let R is an Associative Ring with unity and R is Commutative then $xy^3 = y^2xy$.

Proof: Given that $xy^3 = y^2xy$

Replacing y by $y+1$, $x(y+1)^3 = (y+1)^2 x (y+1) \in Z(R)$

$$x(y+1)(y^2+2y+1) = (y^2+2y+1)(xy+x)$$

$$(xy+x)(y^2+2y+1) = y^2xy+2yxy+xy \in Z(R)$$

$$xy^3+2xy^2+xy+xy^2+2xy+x = y^2xy+2yxy+xy \in Z(R)$$

$$2xy = 2yx \text{ [from 1, } xy^2=y^2x]$$

$$yx = xy \forall x, y, \in R$$

Hence R is Commutative ring.

**Corresponding Author: B. Sridevi*, Asst. Professor in Mathematics,
 Ravindra College of Engineering for Women, Kurnool, India.**

Theorem 3: Let R be a prime ring with $yx^2y = xy^2x$ in $Z(R)$ for every x, y in R. Then R is a commutative ring.

Proof: Given that, $yx^2y = xy^2x$

Replacing x by x+1,

$$y(x+1)^2y = (x+1)(y^2)(x+1) \in Z(R)$$

$$y(x^2+2x+1)y = (xy^2+y^2)(x+1) \in Z(R)$$

$$yx^2y+2yxy+y^2 = xy^2x+xy^2+y^2x+y^2$$

$$2yxy = xy^2+y^2x$$

$$\text{(From the theorem } y^n x = y^{n-1} xy)$$

$$yxy = xy^2 \in Z(R)$$

Replacing y by y+1,

$$(y+1)(xy+x) = x(y^2+2y+1)$$

We get,

$$yxy+yx+xy+x = xy^2+2xy+x$$

$$yx = xy \quad \forall x, y, \in R$$

Hence R is Commutative ring.

Theorem 4: If R is an Associative Ring with unity 1 then R is Commutative if and only if $x^3yx = x^4y$ for all x, y belongs to R.

Proof: Given that , $x^3yx = x^4y$

Replacing x by x+1,

$$(x+1)^3y(x+1) = (x+1)^4y \in Z(R)$$

$$(x+1)(x+1)(x+1) y (x+1) = (x+1)^2(x+1)^2y \in Z(R)$$

$$(x^2+2x+1)(xy+y) (x+1) = (x^2+2x+1) (x^2+2x+1)y \in Z(R)$$

$$(x^3y+x^2y+2x^2y+2xy+xy+y) (x+1) = (x^2+2x+1) (x^2y+2xy+y)$$

$$3x^2yx+3xyx+yx = 3x^2y+3x^3y+xy$$

$$\text{[by the theorem, } x^n y = x^{n-1} yx]$$

$$yx = xy \quad \forall x, y, \in R$$

Hence R is Commutative ring.

Theorem 5: If R is ring with unity 1 satisfying $[(xy)^2 - xy, x]=0$ then R is commutative.

Proof: Given that, $[(xy)^2 - xy, x] = 0$

$$[(xy)^2 - xy]x = x[(xy)^2 - xy]$$

Replacing x by x+1, $[(x+1)y]^2 - (x+1)y(x+1) = (x+1) [((x+1)y)^2 - (x+1)y] \in Z(R)$

$$[(xy+y)^2 - (xy+y)](x+1) = (x+1) [(xy+y)^2 - (xy+y)]$$

$$[(xy+y) (xy+y) - (xy+y)] (x+1) = (x+1) [(xy+y) (xy+y) - (xy+y)]$$

$$(xy)(yx) + y(xy)x - yx = x(xy)y + (xy) (xy) - xy \in Z(R)$$

Replacing x by x+1,

$$[(x+1)y] [y(x+1)] + y((x+1)yx+1) - y(x+1) = (x+1) ((x+1)y)y + ((x+1)y)((x+1)y) - (x+1)y$$

$$(xy+y)(yx+y) + (yxy+y^2)(x+1) - yx - y = (x+1) (xy+y)y + (xy+y) (xy+y) - xy - y$$

$$Y(yx)+yxy = (xy)y+y(xy)$$

By replacing y by y+1, we get $(yx)y = (xy) y \in Z(R)$

$$yx = xy \quad \forall x, y, \in R$$

Hence R is Commutative ring

Theorem 6: If R be a non-associative ring with unity 1 satisfying $y(yx)=y(xy)$ for all x,y belongs to R then R is commutative.

Proof: Given that, $y(yx) = y(xy)$

$$\text{Replacing y by y+1, } (y+1) [yx+x] = (y+1) [xy+x] \in Z(R)$$

$$y(yx)+yx+yx+x = y(xy)+yx+xy+x$$

$$yx = xy \quad \forall x, y, \in R$$

Hence R is Commutative ring

Theorem 7: If R be a non-associative ring with unity 1 satisfying $(yx)x = (xy)x$ for all x,y belongs to R then R is commutative.

Proof: Given that, $(yx)x = (xy)x$

Replacing x by $x+1$, $[y(x+1)](x+1) = [(x+1)y](x+1) \in Z(R)$

$(yx+y)(x+1) = (xy+y)(x+1) \in Z(R)$

$(yx)x+yx+yx+y = (xy)x+xy+yx+y \in Z(R)$

$yx = xy \forall x, y, \in R$

Hence R is Commutative ring

REFERENCES

1. I.N. Herstein, *Topics in Algebra*, Wiley India (P) Ltd, 2nd Edition 2006.
2. K.V.R. Srinivas and V.V.S. Ramachandram, Invertible and complement elements in a Ring, *IJMR* 3 (1) (2011), 53–57.
3. M. Ashraf, M.A. Quadri and D. Zelinsky, Some polynomial identities that imply Commutative for rings, *Amer. Math. Monthly* 95 (4) (1988), 336–339.
4. R.N. Gupta, A note on commutativity of rings, *Math. Student* 39 (1971).
5. G. Yuanchun, Some commutativity theorems of rings, *Acta Sci. Natur. Univ. Jilin* 3 (1983), 11–18.

Source of support: Nil, Conflict of interest: None Declared

[Copy right © 2016. This is an Open Access article distributed under the terms of the International Journal of Mathematical Archive (IJMA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]